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V Semester B.Com. Examination, December - 2019
(CBCS) (F+R) (2016-17 and Onwards)

COMMERCE
Paper - 5.4 : Costing Methods

Time : 3 Hours Max. Marks : 70
Instruction : Answers should be written completely either in English or in Kannada.

Qen - & / SECTION - A
39NT cIRRPTETR B GOT-TINRYN woZdr.  BICIROW WT-FFOBR HTWE
BOBNYT, BRODTITH. 5x2=10

Answer any five of the following sub-questions. Each sub-question carries
two marks.
1. (a) 3%o= ﬁa‘i T3 Q0TTe 2
Write the meaning of Job costing.
(b) BoR-By LTIV, WIARD CIRTRTTR TR, FMROBNE GUTRBOH QER.
Give any four examples of industries where job costing is applicable.
(c) “wSTER DT WORIR” DO 7
What do you mean by Economic Batch Quantity ?
(d) THoh SR A0E rorUIERY, I9R. |
State any two features of process costing.
() TBRwedeBORT F0F HOTWTER ?
What do you mean by work uncertified ?
() =g JWs LFFmR, @Y.
State the meaning of Hospital costing.
(g) Foolpertd 3% Pess oW ?

What is composite cost unit ?

P.T.O.
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“yen — ¥ / SECTION - B
cinRmade St FHIeR WB0R. TICIRO Bohe b Sosv, BRoODLIT,

Answer any three questions from this section. Each question carries
six marks. 3x6=18

2. @ 3P ARS8 BB 2025 PP DPORNY SO RIVANTR, 228000,
Write the differences between Job Costing and Batch Costing.

3. 3903 THENOT 2083 ﬁaﬁd @eed Je 25 deﬂa ROTOT 2B ﬁzs msa BIRTUL3
2363053553 FOB&EBOWD.

ﬁzs%mgﬁ%fo T 24,000

3090 : gweal A TS nod T 100 To3 ek, 120 Rotnsd
Qweal B @@ modit T 60 003 28 80 notinsd
93 C @& nowdR I 50 803 2l 40 Rotdrisd

B0 Dedynsd 1 T noed T 40

/T BoedEnsd 2,000 ROERTH i) T 50,000

Calculate the cost and selling price of the job after adding 25% profit on total
cost.

Materials ¥ 24,000

Wages - Dept. A - 120 hrs at ¥ 100 per hr
Dept. B - 80 hrs at ¥ 60 per hr
Dept. C - 40 hrs at ¥ 50 per hr

Variable overhead - ¥ 40 per hour

Fixed overhead - ¥ 50,000 for 2,000 hours

4., X 30TAOIW m%ﬁiwab& 30@@5;:3’;3. RWIT FTgod - 1 TY 2,000 3.8 ﬁao—%
BANGD, 20w 3.8 R T 8 0o wBARONTD. waoFs B¥my T 4,000 TN,
em@dm ek X 2,000 SNHIT. AOBPT, IFW) Sezwo 10 d‘\ Clolant~) m@cx
@csm 2.0T éa:"% R %2003 BRoos RREoNd. S m@:cﬁ%odao w%o&o:o@
1760%3‘3 NYQUIT. NTITS BJFod - 1 T Jéo&dz B3PBRD B @'?53‘:)53
ITD Kﬁaodﬁa ﬁocéaoofaoma
X company manufactures a product 2,000 kgs, raw materials at ¥ 8 per kg
were supplied to Process-1. Labour cost amounted to ¥ 4,000 and production
overhead incurred was T 2,000. The normal loss was estimated at 10% and

was sold at ¥ 2 per kg. Actual production in the process was 1760 kgs.
Prepare Process-1 account and value of abnormal loss.
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5. 393508 mndé @@033 mgﬁ méoﬁ:m& 30353004

Sl 223 ()
BRTLFEEWOT DODAT TUWPTWAND 3,000
ARETDENNCT St VRBT FURWANT 1,000
Reemodor HoSTONT FLTANW 480
B3RO | 4,880
=ed d'&i 588

OhrARFaRoD HOF S SedBedod B¢ 25 3R

330 ATFRE Hedy By TR IYD 3¢ 10 0,
meén @& T12,000

From the information given below prepare contract account :

Particulars Amount (3)
Materials bought from the market 3,000
Materials issued from stores 1,000
Materials returned to stores 480
Wages 4,880
Direct expenses 588

Works on cost 25% of direct wages
Office on cost 10% of prime cost
Contract price of ¥ 12,000

P.T.O.
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6. 3ITVIOR WInLHSOWOT :
(a) D d.00e. N
(b) ety Todweds .0e, rigd faaéjﬁl’éabcl FOTO&BOND.
200 SONPTY ToODFAVF LAT BTN : 30 HIND
0 BgRom 200 s.ave. N td.raddab% TS WA BEoATHETS
23, WA : 4
T WAT MG 50 Fodseedsad
TOIRedsT WooRO Toddees : Bedwo 75 T RO .
From the following information calculate :
(a) Total kilometers
(b) Total passenger kilometers
Days operated in a month - 30 days

Trips made by each bus covering a distance of 200 kms one side
No. of buses - 4

Capacity of each bus 50 passengers
Average passenger travelling - 75% capacity.

Agen - & / SECTION - C
IR Feth TINOR w3on. Fscdrom TR TOTLY LORYD, BRI,
Answer any three questions. Each question carries fourteen marks. 3314 42

7. (a) 2@ 303 Fogd 101 T NS [PLINECT 248 W DB worm BRovL
ejeﬁo&& 'c‘océaéo@ca:@

T
e o5y, WORPFNL 17,600
B3 B By 8,000

SooDFT eI, Tmos Bgm Be 50 503 HORTNS Tore SEYS DRV
plevs i)aSz:S 5@ 10 doé wmmﬁd 2:83) 23033 Be 10 O, TN Neangenﬁd

(b) wﬁoio o8 X 11 4,000 w%%ﬁ%fab < 4,00,000 5323’65@ um Gilaplataatents
LOWOWZTONT, w33 Deberoon ?’2 40,000 Tﬁ?c‘\b ?.ﬁ@nj%ﬁd TOBOWAT
35y WRGPFRYY Be 5 om, BT IF ©nd. wma S® 3e 50, Slalasy
a@mﬂm B maﬁé T 16 doé RT3 SIRBSINTS. "‘6050 203 xa em:-a;ﬁ
3,650 aﬁésﬁﬁ@;b

THod ToB X3 40300, ATTBY mTRTY Netod [P, BoRLECWD.
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8.

(a) From the following particulars related to Job No. 101 ascertain the
total cost and estimated selling price.

4
Direct materials 17,600

(&)

Direct labour 8,000

Works overheads are recovered on the basis of 50% of prime cost and
administrative overhead 10% of works cost. A profit of 10% on total cost
is to be added.

(b} In process X, 4,000 units of raw materials were introduced at a cost of
X 4,00,000. The other expenditure incurred in the process was
< 2,40,000. Out of the units introduced 5% were lost in weight and the
normal loss was 5% which were sold @ ¥ 16 per unit. The output of
process X was only 3,650 units.

Prepare process X A/c and calculate the value of abnormal gain.

31-12-18 m"zoa’% OBHTT 3¢FOW BRES0DI, B A’ 11 BOWORATOZ VeBRNT.
R0 =3 ?)\ w& w@d GslercTats] w%oﬁ:ari%"jo més z&otﬁdaéd

I Wil | ok -1 B3cdk - II Bgeh - III
) R) ®) )
Sed sy, SRR 7,542 2,600 1,980 2,962
s 3R 9,000 2,000 3,000 4,000
WTTTO LRTHE R 9,000f -] e e
0T GV 950 (sFe3Bnsh) | 840 (Feagned) | 750 (sa3snisd)
TP, IF 5% 10% 15%
& Swon 36 (39 Py T4 <5 T

1000 Fe3ngsy, T 3 o3 Tgod - 139 ToHDEOIND. ARNE 5CRRHOHY
SEPEAND D) BTEAT BN AHOY. B TFoLod LTVTIO WRORS

ﬁ*\ﬁ Newrcéojaarbécs D) ©0SDITON FTODT mw%ﬁ RETE HOITLET.  LVBITITO
LRTEE s 100 dm& 65 890D ﬁ%mmgd = d@oﬁaodo 259300, BOIROA.

P.T.O.
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Product ‘A’ is obtained after it passes through three distinct processes.
The following information is obtained from the accounts for week ending

31-12-18.

ITEMS TOTAL |PROCESS - I |PROCESS - II |PROCESS - III

) ) ) )

Direct materials 7,542 2,600 1,980 2,962
Direct wages 9,000 2,000 3,000 4,000
Production overheads 9,000f - e
Output during the week 950 (units) 840 (units) 750 (units)
Normal loss 5% 10% 15%
Sale of scrap per unit T2 T4 75

1000 units at ¥ 3 each were introduced in Process-I.

There were no stock of

materials or work-in-progress at the beginning or at the end of the period.
The output of each process passes directly to next process and finally to
finished stock. Production overhead is recovered at 100% of direct wages.

Prepare Process cost a/c.

9. 3IYTOR WL 2018 B¢ TOT HTE MERNPT FOWORATIET.

A B
QTR ) )

DBeITY, FhwAT FRTUND 1,70,698| 1,46,534
300 1,48,750| 1,37,046
mHO 30,000 25,000
S8 PFRD 6,334| 5,718
212%065 SBDEMED 8,252 7,704
AR LHOSLNROL, TR 1,008| 1,264
BRRedes0NT FOR 3,90,000( 2,90,000
BRwededoRs FOR 9,000{ 6,000
DTEBITYS SemBned (31/12/2018) 3,766 3,472
309 wod (31/12/2018) 4,800( 4,200
Seg Sygneo wos (31/12/2018) 480 360
MBS =Py, (31/12/2018) 22,000{ 19,000
oD B 5,00,000| 4,00,000

0% Tumedesnms SPOTY Je 80 SR, INTI, FOERFEENOT  BHEODGVAT.
&g Tene TOEELIeEoR, TLA.
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The following information relates to two contracts of a company for the year

2018.

Particulars (% (gl
Materials sent to site 1,70,698] 1,46,534
Labour 1,48,750|1,37,046
Plant 30,000 25,000
Direct expenses 6,334 5,718
Establishment charges 8,250 7,704
Materials returned to stores 1,098 1,264
Work certified 3,90,000] 2,90,000
Work uncertified 9,000 6,000
Materials at site (31/12/2018) 3,766 3,472
Wages outstanding (31/12/2018) 4,800 4,200
Direct expenses outstanding (31/12/2018) 480 360
Value of plant (31/12/2018) 22,000| 19,000
Contract Price 5,00,000| 4,00,000

The cash received from the contractee was 80% of the value of the work
Certified. Prepare contract account and contractee’s account.

P.T.O.
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10. om0 Todmwess oM =0Tl =RaoNor 2018-2019 Fe AR R Tl Zeria

8

= IS WOITEST S.30¢. i TORBCND. )
(a) 5 FTodmeeds “AME EZ=Een % 1,00,000, 7 2,40,000, % 90,000, % 1,10.000

(f)

(g)

(h)

(i)

4)

(k)

(1

(m)

'eﬁv-e:o g 1,60,0‘.,;\.
TOBING T mars =2 3e 20 dcmD daﬁd ees.

ToXNFT OTeD DENW, ISFDH dzérieéo B Wagenned 3¢ 80 O, ATFYOD

10 23030 zowng 200 =& sonsb.

Q3es Jzo e, T 800 ok 3.

Beoed AFIFTR T 2,000 TS &onsh.

TOTOIN & 307 T 4,000 T& BHRET,

TEOD 0" DB wRLFNY BRULOOR 20T ST T 6,400 TE 6 &onen.
WOFFT eIT g 3¢ 4 TS,

@eBer DWFNY Woars T 40,000.

900 odmsa%dfn 1,600 3.ene. ﬁeée.ao TR0 TRmTeNd.

=

6 Mo e ne woan Téodeomg X 100808 e sone

Pt
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Workout in an appropriate cost sheet and find the unit cost i.e., per passenger
km, for the year 2018-2019, for a fleet of passenger buses run by a transport
company. The following information is extracted from its books.

(a) 5 passenger buses of ¥ 1,00,000, % 2,40,000, ¥ 90,000, ¥ 1,10,000 and
< 1,60,000 respectively.

(b) Yearly depreciation on vehicle is 20% of cost.

(c) Annual repair charges, maintenance and spare parts 80% of depreciation.
(d) Wages of 10 drivers is ¥ 200 per month.

(e) Wages of 20 cleaners at ¥ 100 per month.

(f)  Director’s fees - T 800 per month.

(g) Office establishment ¥ 2,000 per month

(h) License and taxes at T 4,000 per annum.

()  Realization by sale of old tyres and tubes - T 6,400 for every 6 months.
() Yearly rate of interest is 4% on capital.

(k) Diesel expenses per annum is ¥ 40,000.

(I) 900 passengers were carried over 1,600 kms during the year.

(m) Rent of 6 garages at T 100 each per month.

P.T.O.
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11. 20th 300w 3o3wom ﬁw%ﬁéﬁa moam BT wecs@ mwﬁﬂgcﬁ‘dacx
FoChE ‘A’ 3 B0k aie;odﬂa ATatA) w@,q@a éa 980303 53 aﬁdﬁéi c..i(’ﬁ:%w%d

?

(e am@

35y, WANWD

ST 80D : 28 Rotinwd, T 2.50 e nowiR

(@88 X - 16 notinsd BB Rl Y - 12 notdnsh)
WRETF TBLTTOT OVl

BB : 33.67% ﬁazfdﬁ%?mﬁ (ARTBTE)

DOP-THT HOB0H DFemTB 3 §YF0BOST :

%

é'cs% ad#;_:pﬁeéa 3,00,000 a%@ WIRTVLS
3e0 3RO

Qoedd X 20,000

el Y 24.000

ﬁ%@t}‘“ DN 8,000
LBV

qoeald X 10,000

SR Y 18,000
248, % 1,20,000

5,00,000

NTVBH [oAneR eﬁs‘mmmaso@ DooR0 notiod TTRLh o
(a) Boad ﬁzﬁ mﬂoﬁaa’n 303R0.

140
70

10
220
74
294

<
5,00,000

5,00.000

e @ﬁcbéci

(b) oo~ IF DYDY a’mamdm LROIE SoINY 8EI0TY wweald X B, Bwess

Y nen @%ﬁﬁan;@ 3fe) mwm BOT & B0,

(c) oot Bdod, 50553&@0@@3 3¢ 20 CR R, e, 5523
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A company has manufacturing shops. The shop floor supervisor presented
the following cost for job A to determine the selling price :

-
(per unit)
Material 140
Direct wages; 28 hrs @ ¥ 2.50 per hr. 70
(Dept. X - 16 hrs and Dept. Y - 12 hrs)
Chargeable expenses (stores) _ 10
220
Add : 33.67% for expenses (overhead) _74
294

Analysis of the P/L account shows the following :

3 <

Materials 3,00,000 Sales less returns 5,00,000
Direct wages :

Department — X 20,000

Department — Y 24,000

Stores expenses 8,000
Overheads :

Department — X 10,000

Department - Y 18,000
Gross Profit 1,20,000 ‘

5,00,000 5,00,000

It is noted that average hourly rates for the two departments X and Y are
similar. You are required to :

(a) Draw up a job cost sheet.

(b) Calculate the revised cost using overhead figures as shown in the profit
and loss a/c as the basis for charging overhead to Department X and Y.

(c) Add 20% of total cost to determine the selling price.

-00o0-




